log (*) IECSRGBuO standard lightness*

I* Ync=Yw nc=100,

I |EcsraBu0=50 (Y/Y) Y24(Y, =18, Y, 100<Y<=Y, )
I* (3,6)=26,1* ,(18)=50,1* y(90)=98

application
range
1
- 1Y=18
Vo236 TYy=

IECSRGBuUO
tristimulus value difference

Yoc=Yw - nc=100,
I* lEcsraBuO=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(dY) = (1/2,4) 10g[2,4(,/50)] + [1-(1/2,4)] log¥)

application
range

1
Y,=18
1Yy=90

log (AY/Y) IECSRGBUO

_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
I* lEcsroBUO=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log¢/Y,)

= (1/2,4) log[2,4¢,/50)] - (1/2,4) logy)

JRLCaCC il STl g0 T N application
I* =50, dY,=4,80 d¥,/Y,=0,2666 1 ~ 3-Jange

'v,=18
1 Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBuUO

tristimulus value contrast
Yoc=Yw - nc=100,

I* lEcsrBu0=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y/50)] + (1/2,4) logY)

log(Y/dY)0,57, m=0,41 _ - =~

application
range

Y,=18
Yw=90

Yn=3.6

log (*/* ) IEC_sRGBuO r_elative standard lightnesd*/I* ,

1%/1% u Yoc=Yw nc=100,

I lEcsraBuU0=50 (YY) 24 (Y218, Y,/ 100Y<=Y,o)
I (3,6)=26.1* ,(18)=50,1* 1y (90)=98

Yn=3.6  Yyw=90
BEWO00-2A

log(AY/AY,)
AYIAY,

IECSRGBUO relative
tristimulus value difference

Yne=Yw nc=100,
I lEcsraBUO=0 (Y/Y) 24 (Y, =18, Y, 100Y<=Y,o)
log(dY/dY,) = [1~(1/2,4)] log¥/Y,)

I*,=50, dY,=4,80 dY,/Y,=0,2666 _ =~

application
1 range
1y,=18
Yw=90

log [(AY/Y) I (AYIY)] IECSRGBUO relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

I lEcsRaBUO=0 (YY) 24 (Y218, Y, 100Y<=Y, )
logl(@YM)/(AYM),] = - (1/2,4) log¥/IY,)

1y =18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBUO relative
tistimulus value contrast

CelCru=(YIAN(YIAY)u ¥, =Yy, . =100,
I lEcsrGBUO=50 (YY) 24 (Y, =18, Y,/ 100Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

log[(Y/dYY(Y/dY),]=0, m,;=0,41
=5
I* =50, dY,=4,8Q Y,/dY,=3- =~
o application
range
v,=18

Yy=90

YN=3.6




